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MTH 291, Quiz #9, Spring 2018 Name | ' \

Instructions: Show all work. Use exact answers unless otherwise asHed to round.

1. A mass weighing 16 pounds stretches a spring g of a foot. The mass is initially released from a
point 2 feet below the equilibrium position, and the subsequent motion takes place in a medium
that offers a damping force equivalent to % the instantaneous velocity. Write the equation of
the spring-mass system (either as a linear system or a second-order equation.)
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Find the particular solution for the given initial conditions. |
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